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F2A A 55,000 55,000 0
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A (B A A FORhEE 10,553 0

1.=A7-94H] 10,553 10,553 0

.8 520,642| 515,641 5,001
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R gl 19,435 19,435 0

1.9 5 14,311 14,311 0
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4. 202 QB2 240 240 0

- 3,925 3,925 0

1.9 Rk=8-H] 2,000 2,000 0

PRmEARIRE R ) 120 120 0

3. guri 5 1,805 1,805 0

7] 24 38,881 38,881 0

A A7) A 17,484 17,484 0

1. G981 10,768 10,768 0

2. 47187 3,000 3,000 0

3. A ER 696 696 0

4.71E8F 8 3,020 3,020 0

1A 9 4,256 4,256 0
A% 2022d 029 25 124] 228 03% 21

avy
do
2y
ro,




o Ak

A
o
(@)}
ol

20218tw

[0

%= A

e

of 28 Al A

avy
do

o

o
~—

1. G981 1,841 1,841 0

2.0 2,319 2,319 0

RRmEA KR A ) 96 9 0
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